) 2 _
o2 183 72 7Pz ABC of| A sin A = 3 o]al, BC 7} 4em

@ 4cm @6cm ® 8cm @ 9cm ® 12cm

BC 4 2 -
A:=:=:—OEE12:2 ACO .
sin G I 3] X =
wbA AC = 6em ©| T




[=p}

2. 2C=90° ¢l AABC 9|A tanB = 3 A o, sinB 9 gE&?

A

\




3.

D 4, 7, 3V3 @ 4, 7, V29
® 4, V51, 3V3 @ 4, V48, 9
@4 V2. 3V3

B

(1) AM’ =52-32 =16 . AM = MB = 4
(2) AM = BM

LAM =6

x2 =62 +42 = 52

sox = V52

(3)62=x>+32 . x=3V3




4. U 2N H O = 4o oIt wx 9 gh2?

@® 50° @ 55° ® 60° @)65° ® 70°

(ABC = 90°, zx =90° — 25° = 65°




5.

o2 AH2H ABCD 7} el Wi e o,
la+ (b ©] A7]=7

@210° @ 220° ® 230° @ 240°
S QoA 5 Bl Tt AF2e] A7)k gonz

la="T0°

ABCD & o540l Bz
/CBD = /CAD =T70°

(BAD = /b

. /b =140°

. la—+ /b =210°




6. e ZFUHA B C DZHE 9l Uk 2L

® o
WA
Peg==7=—=2D
®@
A
L

3x8=4x60°]EZ A, B, C, D7} 3+ & 9Jof] A3t}




7. & O"HoA AH=10, /B =30°, /ACH = 60° & 1], AABC 9]

Bo|=?
A
A ’
B ) C i{
100 V2 200 V2 100 V3
O 3‘/_ @ 3 @ 3
@ 200v8 ® 100
3
/BAH = 60°, ZCAH = 30°
ABAH |4 BH = 10tan60° = 10 V3
__ 1
ACAH oA CH = 10 tan 30° = —0
~BC=BH-CH
10
=10V3- —=
V3
1
=10V3 (1 — -)
3
203
3
203 1 1003

whetA] AABC 9] HWol= —3‘/_ 10x 5 = 3‘f o]t}




o2 13 Zo] =g Hof tiste] 40° B
71 &013 vjgdo] St o] 4-& uet

200m 23tk A& YA 2 m =

OFREA] 5FH? (T sin40° = 0.6428,

cos40° = 0.7660, tan40° = 0.8391 )

AX40°

A C
® 153.2m @ 167.82m
® 152.3m @128.56m

BC = AB x sin40°
= 200 x 0.6428 = 128.56 m




oS 283 22 AABC oA AB =4 0|1, /B =60° ¥ o, BC ¢
Aol?
© 2(1+ V3) ©@s ® 4+5

@ 3(1+2v3) ® 3(2V3-1)

B ~
BC =BH + HC
1

B_H:4cos60°:4><§=2

ﬁ:4sin60°=4x‘/7§=2«/§

HC =2v3tan60°=2vV3x V3 =6

- BC=BH+HC=2+6=28
OO,A

3
?5%0"\7\
460" 30N~

\

P H




10. oS AF2+E ABCD 94 AB = 10, BC = 65, BD = 12V3
OABCD 9] ylo]&=?

A
D \
10
7> ,"
120 .y
C g5 B
D 1670 @18«/7_0 ® 20V70
@ 2170 ® 2470

B

=

AC = /102 4 (6 V5)2 = V100 + 180 = 2 V70
DABCDS] Ho]

_1 X 12 V3 x 2 V70 x sin(180° — 120°)

— 5><12«/§><2\/%><sin60°

:%x12\/§x2\/%x\/7§:18\/%

bl



11.

the 13 Zo] w2 9] Aozt 8cm 9l
A 9ol AP S EA 0 EEE HYLS
M7= & AB o] do|=9 AL

® 5v3cm @ 6+V3cm
® 7V3cm @8\/50111
® 9v3cm

@ ﬂ-ﬁ 7]_ EIJ_L]_I_L___ an_% M O]ﬂ- _6']'13 ABJ_OM,
4(cm) ©|t}.
AM = BM

= V48 = 4V3(cm) ©|t}.

B = 2AM = 8 V3(cm) ©|t}.




12, o3 9290 9 JHA pT ¢ HA
T £ yerd Aolth. PA = 6em, PT =
lem 9 ], o U] W g Aol

=7

4
@ Ecm @ 4§Zcm
@ Ecm @ gcm
@ gcm

B

6cm
N

T ~~-14cm--~ P

T2 59 4olE xem 2kl SHH
142 = 6(6 + 2x)

196 = 36 + 12x
12x = 160

40
sox=—/(cm)

3




13. o 1A PA=PB = 4cm ,
PC = 8cm , /DPB = 90° ¥ o, o]
de] =89 dol=?

@ 9rcem @)}10m cm ® 127cm

@ 157 cm ® 187cm

B \
WA & o] ol & xe} 5t
PA-PB=PC-PD°|E&
4x4=(2x-8)x8, x=5(cm)
w2bA o] =99 Zol=
27 x 5 = 10w cm ©]tt.




14. J97 2ol 5 €0, 0 9 35EAB
o] AT FEHATT o] AP
o B} TT = 6cm , AB = Scm
o uf, PA 9] Zol&?

©1cm @ 2cm ® 3cm @ 4cm ® 5em

B ‘
91 0 9|4 PT°=PA-PB

21 O’ 9|4 PT"°=PA-PB o|2&
PT=PT =3cm

.. PT°=PA.PB 9||A
PA = x&} ot

3% = x(x+8)

¥ +8x-9=0
(x-1)(x+9)=0
x=1,x=-9

° = 1( x> 0)




15. o= I8 FAl& APR & RHAF9] Zol7t 1 o]al T4 28] A2717F
90° oltt. @} @ F2 2 WolE 7ot & @- O w27

Q

g

\ °
\ A45

@ -2 @ -1 (@)0 @ 1 ® 2

AABC oA AC = 1, /A = 45° 0|22 AB = cos45° = ‘/75 ,
m:sin45°:‘/7§
_ — 1 1
A = = OOEE = — = —— =
AAPQ oA AP = 1, ZA = 45° ©] Q VT
)
V2,PQ =tan45° =1
Hlg3 2ol Yol= aAPQ ¢ Wol- aABC & Hol
AAPQPJ"O]——X(lxl):%
1 V2 W2 1
o] o _ - - = — ooo
AABC 2] Yo] 2><<2><2> 1 @
_ 1 1 2 1 1
HlZzx HBHolWol— - _ - =2 _ - _ - ...
1 1
@-®=-7=0




16. The 2ol A 5 24 PA, PB & ¥459] Zol7} sem 21 9 0
B

Aol H A, BE FHolth PA =12cm ¥ W, AB 9] Zdo]=?

192 120
@ 24cm @ icm B®)—cm
124 2 13
@ ?Cm ® 25cm

A7t PAO £ 4420l B2 PO = 13cm ©]th
Serl:

PAxAO = POxAD = 12x5 = 13 x AD .'.E:%cm

w2t =4 OD &= @ AB £ ©|5E522 AB = 2AD =

120

ECHI o},




17. ok 2¥elH A D, E, F & 4201219 ABC ¢ 9 0 o 38
wl, 90 o Woli=?

mem? @ 2wcm? ® 3ncm?

@)
@4ﬂcm2 ® 5rem?

B ~

BD = 4cm, CD = 6cm ©]| B2

AB = (4 + x)cm, AC = (6 + x)cm ©|T}.
(44 x)% + (6 + x)? = 10?

2x? 4+ 20x + 52 = 100

x24+10x-24=0

(x-2)(x+12)=0

wbA] x =2 (x> 0) °o]B2

A 0O 9] Hole 2% = 4r (cm?)




18. o3& I#HIA PT = ¥ O ¢ Ao

o, AP:PB & otofzt.

R

]

®2:3 @1:2

B

PT’=TA -TB
36 =TA - (TA +9)
~TA=3

ATAP ~ ATPBO|E &
AP:BP=3:6=1:2




19. o2 I™3 Zo] LADB = /BDC °]1L
AD=6,DE=2CD=3¢% 1, EB
o] do]=? A

D3v2 @3v3 @5

@7 ® 11

~&B

/BDC = /BAC (5.0ptBC ] that 9157

AABD & AECD (AA )
.. AD:DE=BD:CD
%,6:2=(2+EB):3
6x3=2x(2+EB)

~ EB=7

Rl —
/ABD = /ACD (5.0ptAD ]l tigt 957} olnz




20.

O ZHolA x o] k27

®© 4 @15 @)
@ 5.5 ® 6

B

HE,B,C,F =35 9of 1 &

A

I

Tx10=x(x+9)
70 = x? + 9x

X +9x-70=0
(x+14)(x-5)=0
Lx=5("x>0)




